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General Instructions :
1. There are 31 questions in all.
2. Marks for each question are indicated against it.
3. All questions are compulsory.
4. Write the same question number as given in the question paper while answering a

question in your answer book.
5. (i) Answers to each Multiple Choice Questions of 1 mark should be out of (a), (b),

(c) or (d) only.
(ii) Answers to questions of 3 marks should not exceed 60 words each.
(iii) Answers to questions of 5 marks should not exceed 120 words each.

6. Map should be attached inside the answer book.

1- bl iz'u i=k esa dqy 31 iz'u gSaA
2- izR;sd iz'u ds vad mlds lkeus fn;s x, gSaA
3- lHkh iz'u vfuok;Z gSaA
4- viuh mÙkj iqfLrdk esa mÙkj fy[krs le; iz'u&i=k esa fn;k x;k iz'ukad gh fy[ksaA
5- (i) 1 vad ds cgq&oSdfYid iz'uksa dk mÙkj (a), (b), (c) vFkok (d) esa ls gh gksuk pkfg,A

(ii) 3 vadksa ds çR;sd iz'u dk mÙkj 60 'kCnksa ls vf/d ugha gksuk pkfg,A
(iii) 5 vadksa ds çR;sd iz'u dk mÙkj 120 'kCnksa ls vf/d ugha gksuk pkfg,A

6- ekufp=k dks viuh mÙkj&iqfLrdk ds Hkhrj layXu dhft,A

CLASS ( ) : VIII
SOCIAL SCIENCE

(lkekftd foKku)
(Summative Assessment - II)

Time : 3 Hrs. Maximum Marks : 90

fuèkkZfjr le; % 3 ?kaVs vfèkdre vad % 90

Roll No. (vuqØekad) ------------------------------ Code (dwV la-) % 820146-1&SA
2
(M)

Please check that this question
paper contains 31 questions and
10 printed pages.

d̀i;k tk¡p dj ysa fd bl iz'u&i=k
esa 31 iz'u rFkk 10 Nis gq, i`"B
gSaA

1. Which one of the following types coal contains about 90% carbon and
emits little smoke?

(a) Anthracite (b) Bituminous
(c) Lignite (d) Peat

fuEufyf[kr esa ls dks;ys ds fdl :i esa yxHkx 90 izfr'kr dkcZu gksrk gS rFkk tks FkksM+h ek=kk

esa èkqavk NksM+rk gS\

(a) ,uFkzklkbV (b) fcVwfeul

(c) fyXukbV (d) ihV
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2. In which type of agriculture farmer and his family grow crops for self-

sustenance?

(a) Subsistence (b) Commercial

(c) Plantation (d) Shifting

fuEu eas ls fdl izdkj dh Ñf"k esa fdlku vkSj mldk ifjokj viuh vkthfodk ds fy, iQly

mxkrk gS\

(a) fuokZg (b) O;kolkf;d

(c) o`{kkjksi.k (d) LFkkukarfjr

3. In which of the following countries was the first modern mechanized textile

industry developed?

(a) China (b) Britain

(c) Korea (d) Spain

fuEufyf[kr ns'kksa esa ls fdl ns'k eas loZizFke vkèkqfud e'khuhÑr oL=k m|ksx fodflr gqvk\

(a) phu (b) fczVsu

(c) dksfj;k (d) Lisu

4. Which Indian state has the highest density of population?

(a) Bihar (b) West Bengal

(c) Kerala (d) Uttar Pradesh

fdl Hkkjrh; jkT; esa tula[;k dk ?kuRo lokZfèkd gS\

(a) fcgkj (b) if'peh caxky

(c) dsjy (d) mÙkj izns'k

5. Where did Ms. Annie Besant first establish the Home Rule League?

(a) Calcutta (b) Bombay

(c) Madras (d) Delhi

Jherh ,uh cslsaV us lcls igys gkse :y yhx dh LFkkiuk dgka dh\

(a) dydÙkk (b) cEcbZ

(c) enzkl (d) fnYyh
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6. Who among the following was the First Governor General of Independent

India?

(a) Lord Curzon (b) Lord Attlee

(c) Lord Cripps (d) Lord Mountbatten

fuEufyf[kr esa ls Hkkjr dk çFke xouZj tujy dkSu FkkA

(a) ykWMZ dT+kZu (b) ykWMZ ,Vyh

(c) ykWMZ fØIl (d) ykWMZ ekmaVcsVsu

7. Who among the following designed 'The Indian Independence Act 1947'?

(a) Lord Curzon (b) Lord Attlee

(c) Lord Cripps (d) Lord Mountbatten

^Hkkjrh; Lora=krk vfèkfu;e 1947* dk izk:i fuEufyf[kr esa ls fdlus rS;kj fd;k\

(a) ykWMZ dT+kZu (b) ykWMZ ,Vyh

(c) ykWMZ fØIl (d) ykWMZ ekmaVcsVsu

8. Representatives from which minority community can be nominated to Lok-

Sabha by the President of India in case of inadequate representation?

(a) Parsi (b) Anglo-Indians

(c) Dravidians (d) Muslims

i;kZIr izfrfufèkRo ds vHkko esa] fdl vYila[;d leqnk; ds izfrfufèk;ksa dks jk"Vªifr }kjk

yksd lHkk ds fy, euksuhr fd;k tk ldrk gS\

(a) ikjlh (b) vkaXy Hkkjrh;

(c) nzfoM+ (d) eqfLye

9. Which of the following religious groups accounts for about 2% of the total

population of India?

(a) Muslims (b) Hindus

(c) Sikhs (d) Persians

fuEu esa ls dkSu lk èkkfeZd leqnk; Hkkjr dh dqy tula[;k dk yxHkx 2% gS\

(a) eqfLye (b) fgUnq

(c) flD[k (d) ikjlh
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10. In which of the following states, the number of Musahars is about 10 lakhs?

(a) Bihar (b) West Bengal

(c) Madhya Pradesh (d) Gujarat

fuEu esa fdl jkT; esa ewlkgjksa dh la[;k yxHkx 10 yk[k gS\

(a) fcgkj (b) if'peh caxky

(c) eè; izns'k (d) xqtjkr

11. State any three characteristics of intensive agriculture.

xgu Ñf"k dh dksbZ rhu fo'ks"krk,a fyf[k,A

12. "Why is agriculture called the backbone of our country's economic

development?" Explain by giving any three reasons.

Ñf"k gekjs ns'k ds vkfFkZd fodkl dh jh<+ D;ksa dgh tkrh gS\ fdUgha rhu dkj.kksa }kjk bl

dFku dks Li"V dhft,A

13. What is meant by 'Industrial Region'? Name any four major industrial

regions of the world.

¶vkS|ksfxd {ks=k¸ ls D;k vfHkizk; gS\ fo'o ds fdUgha pkj izeq[k vkS|ksfxd {ks=kksa ds uke

fyf[k,A

14. Classify the industries on the basis of source of raw material. Explain any

one with example.

dPps eky ds L=kksrksa ds vkèkkj ij m|ksxksa dks oxhZÑr dhft,A fdlh ,d dh mnkgj.k lfgr

O;k[;k dhft,A

OR (vFkok)

Explain any three factors responsible for the concentration of the iron &

steel industry at Jamshedpur.

te'ksniqj esa ykSg ,oa bLikr m|ksx ds dsanzh;dj.k ds fy, mÙkjnk;h fdUgha rhu dkjdksa dh

O;k[;k dhft,A

1+2=3

2+1=3

3×1=3

1

3×1=3
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15. Highlight any three positive impacts of the British system of education in

India.

Hkkjr esa fczfV'k f'k{kk iz.kkyh ds fdUgha rhu ldkjkRed izHkkoksa dks mtkxj dhft,A

16. Which was the first significant step taken by the British in the field of

education? State its two contributions.

vaxzstksa }kjk f'k{kk ds {ks=k esa fy;k x;k igyk izeq[k dne dkSu lk Fkk\ blds nks ;ksxnkuksa dk

mYys[k dhft,A

17. Where and why were the two sessions of the Congress held in 1906 and

1907?

dkaxzsl ds 1906 o 1907 esa gq, nksuksa l=k dgka rFkk D;ksa gq,\

18. Why were the Morley-Minto Reforms of 1909 announced? What were its

outcomes?

1909 ds ekWysZ&feUVks lqèkkjksa dh ?kks"k.kk D;ksa dh xbZ\ bl ds D;k ifj.kke fudys\

OR (vFkok)

Why was the Rowlett Act of 1919 passed by the British Government? How

did it affect the National Movement?

fczfV'k ljdkj }kjk jkysV ,DV 1919 D;ksa ikfjr fd;k x;k\ jk"Vªh; vkanksyu dks blus dSls

izHkkfor fd;k\

19. Explain the process to remove the President of India.

Hkkjr ds jk"Vªifr dks gVkus dh izfØ;k dh O;k[;k dhft,A

20. Why is it essential to have a judiciary in a federal government?

la?kh; ljdkj esa U;k;ikfydk dk gksuk D;ksa vko';d gS\

3×1=3

1+2=3

1½+1½=3

1+2=3

1+2=3

3

3
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21. How does the Mid-Day Meal Scheme promote education?

eè;kodk'k Hkkstu ;kstuk fdl izdkj f'k{kk dks c<+kok nsrh gS\

22. Which Fundamental Right works as a safeguard against the exploitation

of children and how?

ckydksa ds 'kks"k.k ds fo:¼ muds laj{k.k gsrq dkSu lk ekSfyd vfèkdkj dk;Z djrk gS rFkk

dSls\

OR (vFkok)

Which two Fundamental Rights contain special provisions to protect the

minorities and how?

dkSu ls nks ekSfyd vfèkdkj vYila[;dksa dh j{kk ds fy, fo'ks"k izkoèkku iznku djrs gSa vkSj

dSls\

23. What is meant by 'conservation' of minerals? Suggest any three measures

to conserve minerals.

[kfutksa ds laj{k.k ls D;k vfHkizk; gS\ [kfutksa ds laj{k.k ds dksbZ rhu mik; lq>kb,A

24. Mention the four physical factors which affect the distribution of population.

Explain any two with examples.

mu pkj HkkSfrd dkjdksa dk mYys[k dhft, tks tula[;k forj.k dks izHkkfor djrs gSa\ fdUgha

nks dh mnkgj.k lfgr O;k[;k dhft,A

OR (vFkok)

Define sex-ratio. Explain any four reasons responsible for the decline of

sex-ratio in India.

ySafxd vuqikr dh ifjHkk"kk fyf[k,A Hkkjr esa ySafxd vuqikr ds de gksus ds fy, mrjnk;h

fdUgha pkj dkj.kksa dks Li"V dhft,A

3

1+2=3

1+2=3

1+2+2=5

2+3=5

1+4=5
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25. How did the reform movements influence the Indian society? Explain.

lqèkkj vkanksyuksa us fdl izdkj Hkkjrh; lekt dks izHkkfor fd;k\ O;k[;k dhft,A

26. Distniguish between the ideas of the Radicals and the Moderates.

mnkjokfn;ksa rFkk mxzokfn;ksa ds fopkjksa esa varj Li"V dhft,A

OR (vFkok)

Name the Congress session which ratified Gandhiji's call for non-

cooperation movement. Explain any four methods adopted by Satyagrahis

to make non-cooperation movement more successful.

dkaxzsl ds ml l=k dk uke fyf[k, ftlesa xkaèkh th ds vlg;ksx vkanksyu ds vkàku dh iqf"V

dh xbZA vlg;ksx vkanksyu dks liQy cukus ds fy, lR;kxzfg;ksa }kjk viukbZ xbZ fdUgha pkj

fofèk;ksa dh O;k[;k dhft,A

27. In your opinion, how can India be transformed into a vibrant and dynamic

country by 2020?

vki ds fopkj esa Hkkjr dks 2020 rd fdl izdkj ,d vkstiw.kZ rFkk izxfr'khy ns'k ds :i

esa ifjofrZr fd;k tk ldrk gS\

28. How is the President of India elected? Explain any three legislative powers

of the President.

Hkkjr ds jk"Vªifr dk pquko fdl izdkj gksrk gS\ jk"Vªifr dh fdUgha rhu oSèkkfud 'kfDr;ksa

dh O;k[;k dhft,A

29. Explain the power of Judicial review of the Supreme Court of India.

loksZPp U;k;ky; dh U;kf;d iqujkoyksdu dh 'kfDr dh O;k[;k dhft,A

5

5

1+4=5

5

2+3=5

5
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30. Who are Scheduled Castes and Scheduled Tribes? Mention any three factors

responsible for their miserable plight and backwardness.

vuqlwfpr tkfr;k¡ o vuqlwfpr tutkfr;k¡ dkSu gS\ mudh bl n;uh; n'kk vkSj fiNM+siu ds

fy, mÙkjnk;h fdUgha rhu dkjdksa dk mYys[k dhft,A

OR (vFkok)

Who are Bishnois? How do they contribute in enriching India's diverse

culture and heritage?

fc'uksbZ dkSu gSa\ os Hkkjr dh fofoèk laLÑfr o lkaLÑfrd èkjksgj dks lè¼ cukus esa dSls

;ksxnku nsrs gSa\

31. (i) Two features A and B are marked on the given political outline map of

world. Identify these features with the help of following information

and write their correct names on the lines marked in the map.

(A) An important iron producing country in North America.

(B) A cotton textile manufacturing country in Asia.

(ii) On the same outline political map of world, locate and label the

following with appropriate symbols.

(C) Brazil : an important Iron & steel manufacturing country.

(D) France : a bauxite producing country.

(i) lalkj ds jktuSfrd js[kk ekufp=k ij nks y{k.k A rFkk B n'kkZ, x, gSaA uhps nh xbZ

lwpuk ds vkèkkj ij mUgsa igpkfu, rFkk muds lgh uke nh xbZ js[kkvksa ij fyf[k,A

(A) mÙkjh vesfjdk dk ,d yksgk mRiknd ns'k

(B) ,f'k;k dk ,d lwrh oL=k mRiknd ns'k

(ii) fn, x, lalkj ds mlh jktuSfrd ekufp=k ij fuEufyf[kr dks mi;qDr fpUgksa }kjk

fn[kkb, rFkk muds uke fyf[k,A

(C) czkthy % ,d egÙoiw.kZ yksg&bLikr mRiknd ns'kA

(D) çQkal % ,d ckWDlkbV mRiknd ns'kA

2+3=5

1+4=5

2+2=4
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For visually impaired students in lieu of Q.No.31

iz0la0 31 ds LFkku ij dsoy ǹf"V ckfèkr fo|kfFkZ;ksa ds fy, %

31.1 Mention an important iron producing country of North America.

31.2 Name the cotton textile manufacturing country of Africa.

31.3 Which is an important iron and steel manufacturing country of Asia.

31.4 Name the bauxite producing country of South America.

31-1 mÙkjh vesfjdk ds ,d yksgk mRiknd ns'k dk uke fyf[k,A

31-2 vçQhdk ds lwrh oL=k mRiknd ns'k dk uke fyf[k,A

31-3 ,f'k;k dk ,d egRoiw.kZ ykSg&bLikr mRiknd ns'k dkSu lk gS\

31-4 nf{k.k vejhdk ds ckWDlkbV mRiknd ns'k dk uke fyf[k,A

4×1=4
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(A
)

(B
)

World-Political (lalkj&jktuSfrd)Roll No. (vuqØekad) ____________________

Map for Question No. 31 (ç-la- 31 ds fy, ekufp=k)
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